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Starter

Compare the temperatures using comparison symbols.
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Main Task

Colour the temperature shown on the thermometer.
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True or false?

These two thermometers show the same
temperature. Explain how you know.
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‘Write the correct temperatures underneath each thermometer.
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Challenge
Now choose your challenge!
2. Order the temperatures from lowest to highest.
— | 100°C — 10°C — | 10°C 100°C — 10°C
— | 90°C 9oC — | 9C 90°C — %C
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6. Luna and Nora are comparing thermometers. Who do you agree with? Explain why.

C. The temperature is half of
30°C.
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7. Match each thermometer to the correct statement.
— - 100°C —_ — 50°C
A. The temperature has two — — 18C —
identical digits. — 8¢ — —j4o¢
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B. The temperature is 40°C 20°C
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